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Law of Sines Notes

Review: Place the opposite sides. Review: Place the opposite angles.
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The Law of Sines In any triangle, there is a special relationship between the angles of
the triangle and the lengths of the sides opposite the angles.
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T In AABC, find b.
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Now, set up the triangle yourself.
It is expected that you draw the triangle when one is not given to you.
Find each measure using the given measures of Triangle ABC. Find the measure.

3. He=12,msA =80, and msC = 40, find a.
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Practice: solve the triangle. “—
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